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= 1,720,000
403 XX EH S A0l d 1,720,000 500,000 1,220,000
& 1,720,000
01 AXEMA=2EER 1,720,000 500,000 1,220,000
OZARA UF 1,220,000
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By UASs0 FW B (2HLBY/23002)
el Fodz2s g2det (Ehel: =3
SN FE - SR(EA) - NRAY - BES 0f & Soe D=2
OLASEA U HAURSA 2 12,000
SN2 A AZXA (=) 159,100 159,100 0
= 159,100
308 XXIEHHSOIH 159,100 159,100 0
= 159,100
01 XM EXS 159,100 159,100 0
O3 A& A AE2E 159, 100
= 159,100
ASIFAANE 20z SAI(21) 131,000 181,000 250,000
= 131,000
308 NXISHHSOIH 131,000 181,000 A50,000
= 131,000
01 MXEHINELS 131,000 181,000 A 50,000
OAMBIHANH S 20z W=F 131,000
= 131,000
stuol Rlzws g43(=1) 903,260 915,700 A 12,440
2 451,630
< 451,630
307 212t01& 903,260 915,700 A 12,440
2 451,630
= 451,630
02 2ItAASE X 903,260 915,700 A 12,440
O=2=0F Gl=Z At XI& 903,260
= 451,630
= 451,630
SAFAIUS AHZEIZIXIZAISE (= 22) 84,000 70,000 14,000
| 42,000
< 42,000
307 212t01& 84,000 70,000 14,000
Il 42,000
& 42,000
02 QI AE X 84,000 70,000 14,000
OAEEIZN X & 84,000
Il 42,000
= 42,000
Sslzns 2483 NF(2D) 300,000 444,000 A 144,000
= 150,000
< 150,000
307 212to1& 300,000 300,000 0
= 150,000
< 150,000
02 QIFAE X 300,000 300,000 0
OZIZstzns XNJAMH 2 300,000
= 150,000
= 150,000
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H: YARS0 FM Y (2L A/250S)
Sl 29 23YE |4 EER-E
- _ _ ME
SN EHH . H(EH) - NEAY - BES Off &F 04 il ot o Hmz2
2e 231YE sS4 3,256,400 1,557,000 1,699,400
=2 320,000
2 100,000
| 1,016,000
=3 1,820,400
ARS YEYS L 2UCEH 1,277,400 1,557,000 279,600
201 Yure gyl 10,000 10,000 0
01 Atz 10,000 10,000 0
O20ASHUL 2 10,000
202 Oft| 7,400 7,000 400
01 2401t 7,400 7,000 400
OYLRRs FESY L2FT 7,400
307 2I2+0| & 1,200,000 1,400,000 200,000
04 RIFSHALE X 1,200,000 1,400,000 200,000
ORI8sl 22 HSAH 1,200,000
308 XXl EHHI SOl & 60,000 140,000 80,000
01 IXSHHMBNEES 60,000 140,000 £80,000
0sZ ZHMAIHH 60,000
Tolols 245H(2D) 1,519,000 0 1,519,000
2 320,000
| 1,016,000
S 183,000
308 XiXlEHHISOIH 1,519,000 0 1,519,000
=2 320,000
| 1,016,000
& 183,000
01 MIXESHANEES 1,519,000 0 1,519,000
©2011 23t2 & A = 416,000
= 320,000
S 96.000
OS5I X At 1,103,000
| 1,016,000
S 87.000
HIHIM NAX(2ANHE X)) 300,000 0 300,000
308 XXl EHXISOIH 300,000 0 300,000
01 IXSHHMBMEES 300,000 0 300,000
OF=A2M Mz X 300,000
YL X (2D) 160,000 0 160,000
2 100,000
S 60.000
308 XiXlEHXI S OIH 160,000 0 160,000
= 100,000
-3 60,000
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Ha: YASs0 WY S (HUBY/2502)
o9l AW SAYE S4 (e @
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
01 MXSHAZHEES 160,000 0 160,000
OYHUE25 K X 160,000
=l 100,000
= 60,000
HO25AY S 100,000 2,950,000 2,850,000
HC25AY JIB R 100,000 0 100,000
307 2120l H 100,000 0 100,000
VETEPEES 100,000 0 100,000
oY AN X 100,000
SR HAX BZ - HS(SUUBB/25T) 14,712,954 14,935,859 £222,905
= 6,852,833
=l 304,000
| 1,208,791
= 1,870,000
= 4,477,325
SsgMo AEIY PE - 15 2,663,833 2,416,963 246,870
= 184,838
3 304,000
| 1,208,791
= 48,000
= 918,204
AXZS 25T ASEA 70,000 100,000 30,000
207 ATl 70,000 100,000 30,000
01 HRge| 70,000 100,000 30,000
OAZS 28T ASFA 70,000
SANZS HAHBGISIIF(Q) O 50,000 0 50,000
308 X+XI IS Ol & 50,000 0 50,000
01 MXSHHAZHEES 50,000 0 50,000
CEREERESIENE 50,000
SHSEHI 25 - 24 418,600 335,900 82,700
2 48,000
= 370,600
202 01t 3,800 3,000 800
01 =Ujoi | 3,800 3,000 800
ORES 25 - 54 AL =& 3,800
307 212+0IH 20,000 0 20,000
02 DIRIAMBE 20,000 0 20,000
OUALH LSS MLE0HY BA X 20,000
308 X+XI IS Ol & 394,800 332,900 61,900
= 48,000
= 346,800
01 MASHHZHSES 394,800 332,900 61,900
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HE: 25260 AN BE - HS(2AL2Y/25T)
o9l RsRa0l AL PE - S (S5 &2)
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
PEEEEEYIEEELE 316,800
OYSHH 2= N 30,000
OF PESM ZMHA 48,000
= 48,000
dollgE(s8)2s 10,000 15,000 A5,000
307 QI2H0IH 10,000 10,000 0
02 PIRNBAEE 10,000 10,000 0
o®eIIEE 25 10,000
SRS 2 40,692 39,603 999
201 Yer2 Yyl 33,000 33,000 0
01 A2l 33,000 33,000 0
02 MARS 2 20,000
OB MY GBIIE(0H0IE MRS 2 13,000
202 048] 7,692 6,693 999
01 2Uioibl 7,692 6,693 999
ORR49 B2l YIRS AR 7,692
S5 S2l2DA 22 0,000 10,000 0
201 Yer2 Y| 10,000 10,000 0
01 A2l 10,000 10,000 0
OS5I 222 DA B2 10,000
QELH MLXA(2D) 130,000 480,000 A350,000
= 100,000
= 30,000
403 XIS H S0 130,000 480,000 A350,000
= 100,000
= 30,000
01 MXSHIZ2E 130,000 480,000 A350,000
OYS=AHL AY 130,000
= 100,000
= 30,000
lag 2Eue (2 D) 80,000 80,000 0
= 80,000
308 XHXIEHH SOl H 80,000 80,000 0
= 80,000
01 MXSHBABES 80,000 80,000 0
ORI Motz 80,000
= 80,000
52 SE28M ZAMH 7E(21D) 147,900 174,000 £26,100
| 130,500
= 17,400
308 XHXIEHHI SO & 147,900 174,000 £26,100
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Sl 2RO S|P BE - DS (el &2
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
5] 130,500
= 17,400
01 RXNSHBABES 147,900 174,000 £26,100
OZQSZ2s M 2AIS X 147,900
| 130,500
= 17,400
231 SE2(22) 168,740 200,370 A31,630
o] 148,891
= 19,849
308 XX EHHISOI & 168,740 200,370 A31,630
| 148,891
= 19,849
01 RXNSHBABES 168,740 200,370 A31,630
OS5 SRl N 168,740
| 148,891
= 19,849
ST YWAAY 2H(2D) 629,063 950,000 £320,937
o 579,400
= 49,663
403 RIXISHH SR 201 629,063 950,000 £320,937
| 579,400
= 49,663
01 KXIGHAX=EE 629,063 950,000 £.320,937
OZNNB2E LTHAIAEY 75 629,063
| 579,400
= 49,663
SNHSESS SHHoIL 100,000 0 100,000
403 RHXISHHSR20IH 100,000 0 100,000
01 RXCSHTZLDE 100,000 0 100,000
OEXNHSTLH NYLBAL &F 100,000
ST AAZ2(2D) 500,000 0 500,000
o] 350,000
= 150,000
307 BI2HOI 500,000 0 500,000
o] 350,000
= 150,000
02 PIAAMBE 500,000 0 500,000
OS&T MAR2AES X2 500,000
| 350,000
= 150,000
s AE=Red 29(21) 4,838 0 4,838
2 4,838
308 XHXISHHI SO & 4,838 0 4,838
2 4,838
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Sl 2RO S|P BE - DS (el &2
_ _ HE T
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
01 MXSHBABES 4,838 0 4,838
o2 A=Y 2Y 4,838
=2 4,838
AXXS ALXA(2D) 304,000 0 304,000
3 304,000
308 XHXISHH SO & 304,000 0 304,000
3 304,000
01 RXSHBABES 304,000 0 304,000
Ootzlgel Ng HMBUS HX 304,000
3 304,000
SaME4 L I 12,049, 121 2,518,896 A469,775
= 6,668,000
= 1,822,000
= 3,559,121
S5 B 3,837,800 5,015,000 A1,177,200
= 1,822,000
= 2,015,800
202 04t 15,800 15,000 800
01 =2Uloib] 15,800 15,000 800
o2 BLRY =X 15,800
403 RHXISHH SXH20|H 3,822,000 5,000,000 A1,178,000
= 1,822,000
= 2,000,000
01 MXSHAZDE 3,822,000 5,000,000 A1,178,000
OEXNHSE 24Tl 3,822,000
= 1,822,000
= 2,000,000
HEANE HEXA(2D) 656,500 1,001,000 A344,500
= 505,000
= 151,500
403 RHXISHHSRH20|H 656,500 1,001,000 344,500
= 505,000
= 151,500
01 MXSHAZDE 656,500 1,001,000 344,500
OHEANE BEX 656,500
= 505,000
= 151,500
2SS 24FE(2D) 7,554,821 6,502,896 1,051,925
= 6,163,000
= 1,391,821
403 RHXISH SX20|H 7,554,821 6,502,896 1,051,925
= 6,163,000
= 1,391,821
01 MXSHAZDE 7,554,821 6,502,896 1,051,925
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ORNXNF 235 2+ 7,535,821
2 6,145,500
L= 1,390,321
O235 1 EJt0lgy 2| 19,000
2 17,500
= 1,500
HHSH AL (2301= D) (JIEHIIE 38,685 35,135 3,550
& 38,685 35,135 3,550
M2g Jl23l 38,685 35,135 3,550
201 Yer29| 28,605 26,015 2,590
01 ArR2r2iH] 28,605 26,015 2,590
O BNMESE AR22/H] 28,605
202 Odtl 10,080 9,120 960
01 2LHoidl 10,080 9,120 960
O RM2Y =U0HI 10,080




